Lesson 8: Derivative as a Function
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We can under stand the derigadive functicn
PI(K) \r,/ ‘OOk;nj at +he 3‘-‘?‘" of f(x)
o Where (<) is increasing, /() >o,
o Where #(x) is decreasing, $(x)<o.
o Where $09) has a hori ontal f“”je/nl,
+/(x) = 0.

’E_X_: USinﬁ ‘f(@’é’?ﬂ(“‘i, X<-2

x+ 3 / -2< XS0

"2 x+3, X0

determine how the Smfh of 7 looks.

X&-2, £(x)=-3x-5
and has a negadive Slope
whichmeans 1Fs OLCCPCGS.'na,

So $/'(x)<O when x<-2,
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COw’r'lnuitZ vs Di Pper*cmliab;_l_.'_bz
Def: A dunction $ is differentiable
;Tx—-a if Uy exists.

Nete. Di Merentiability =>Continuiyy
BUT Con‘l'mudf 76 Difecent;. by
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Ex. let f(x) = x| . The Araph is
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|ited from +he pager
BuT ar x=0
has a Sharp corner

When there is a Sharp corner = ot
di fferentiable, Se the derivodive docsn™*

exist Here.
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